
Q .1  In A pr i l  2 0 2 5,  whic h G overnment of Ind ia  enterpr is e dec lared its  firs t- ever  d iv idend of                      
₹1 .4 2  c rore for  the 2 0 2 3 -24  fis c al  y ear,  s ince its  inception in 2 0 1 1 ?                       

A ns  1. Power Electronics Limited
2. Antrix Corporation
3. Millennium Telecom
4. Agrinnovate India Limited

Q .2  What two c omponents  pr imar i ly  reac t  in the M ai l lard  reac t ion to  produce the               
browning and fl avour  in c ooked foods?   

A ns  1. Starch and fibre
2. Amino acids and reducing sugars
3. Water and salt
4. Fats and oils

Q .3  Whic h of the fo l lowing was  ranked 7    t h   among the wor ld 's  bus ies t  a irport  pairs       
acc ording to  the World  A ir  Trans port  S tat is t ic s  ( WATS )  for  2 0 24 ,  releas ed by  the                       
Internat ional  A ir  Trans port  A s s oc iat ion ( IATA)  in A ugus t  2 0 2 5?                   

A ns  1. Mumbai-Chennai
2. Delhi-Bengaluru
3. Mumbai-Hyderabad
4. Mumbai-Delhi

Q .4  Whic h of the fo l lowing c an be c las s ified as  a  S us hir  Vady a in Ind ian c las s ic al  mus ic ?                      
A ns  1. Cymbal

2. Tappu
3. Shehnai
4. Ghatam
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Q . 5   In whic h y ear  d id  Ind ia  s ign and rat ify  the Ky oto Protoc ol  to  s upport  internat ional                  
emis s ion- reduc t ion efforts?    

A ns  1. 1997
2. 2002
3. 2000
4. 2005

Q .6  In 2 0 2 5,  whic h s tate mandated a C hi ld  Protec t ion Pol ic y  in a l l  res identia l  s c hools  and                        
hos tels ,  c over ing ant i- bul ly ing,  ant i- drug meas ures ,  gr ievance redres s al ,  and s taff                    
training?

A ns  1. Maharashtra
2. Uttar Pradesh
3. Tamil Nadu
4. Karnataka

Q .7  Whic h c ountry ’s  Pres ident was  the c hief  gues t  at  the 76           t h   Republ ic  Day  Parade in New   
Delhi  on 2 6 January  2 0 2 5?      

A ns  1. Australia
2. Indonesia
3. United Kingdom
4. United States

Q .8  Whic h of the fo l lowing was  one of the loc at ions  of the inaugural  Khelo  India  Beac h             
G ames  2 0 2 5?    

A ns  1. Andaman Islands
2. Lakshadweep
3. Diu
4. Goa

Q .9  Whic h of the fo l lowing organis at ions  launc hed ' Innovat ion Pas s port ' ,  a  s ingle- acces s                   
gateway  des igned to  trans form healthc are ideas  into  market- ready  s o lut ions  in               
2 0 2 5?  

A ns  1. Indian Council of Medical Research (ICMR)
2. National Institute of Pharmaceutical Education and Research (NIPER)
3. Andhra Pradesh MedTech Zone (AMTZ)
4. Biotechnology Industry Research Assistance Council (BIRAC)
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Q .1 0   The famous  Hindus tani  mus ic ian,  Us tad Haddu khan,  was  as s oc iated with ______           
G harana.

A ns  1. Mewati
2. Indore
3. Bhendibazaar
4. Gwalior

Q .1 1   A l l  c hi ldren,  regardles s  of  whether  they  are boy s  or  gir ls ,  wi l l  inher it  whic h of the                       
fo l lowing c hromos omes  from their  mother?     

A ns  1. A Y chromosome
2. Only Chromosome 21
3. Only Chromosome 13
4. An X chromosome

Q .1 2   Whic h Indian s tate organis ed the Judic ia l  C ol loquium on 'A nti- Human Traffic king'  for               
judic ia l  officers ,  publ ic  pros ec utors ,  po l ice officers  and NG O s  on 2 7  July  2 0 24  at  the                        
s tate Judic ia l  A c ademy ?       

A ns  1. West Bengal
2. Tamil Nadu
3. Telangana
4. Maharashtra

Q .1 3   Whic h s tate unvei led  a  1 50 - day  ac t ion plan in 2 0 2 5 foc us ed on e- governance,  l ink ing                     
tehs i ls ,  and fas ter  bus ines s  approvals?        

A ns  1. Maharashtra
2. Gujarat
3. Tamil Nadu
4. Karnataka

Q .1 4   What was  the theme for  the National  Ay urveda Day  2 0 2 5,  celebrated on 2 3          r d

S eptember?
A ns  1. Ayurveda Innovation for Global Health

2. Har Din Har Ghar Ayurveda
3. Ayurveda for One Health
4. Ayurveda for People and Planet
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Q .1 5   Whic h Indian c r ic keter  won the ICC  M en’s  P lay er  of  the M onth for  A ugus t  2 0 2 5?                     
A ns  1. Mohammad Siraj

2. Shardul Thakur
3. Ravichandran Ashwin
4. Jasprit Bumrah

Q .1 6   Whic h of the fo l lowing pairs  is  c orrec t ly  matc hed with the ty pe of s o lar  appl ic at ion?                 
A ns  1. Active solar – depends only on building design without mechanical equipment

2. Solar thermal tower – uses optical fibres to provide daylight inside buildings
3. Solar cell (photovoltaic) – converts sunlight directly into electricity through

semiconductors
4. Passive solar – captures sunlight using pumps and motors to move heated fluids

Q .1 7   The O i lfields  ( Regulat ion and Development)  A mendment B i l l ,  2 0 24 ,  pas s ed by  the L ok                    
S abha in M arc h 2 0 2 5,  E XC LUDE S  whic h of the fo l lowing hy droc arbons?                

A ns  1. Petroleum
2. Natural gas
3. Crude Oil
4. Coal

Q .1 8   Whic h one of the fo l lowing s tr ing ins truments  has  no frets  and is  play ed us ing a             
bow?

A ns  1. Tanpura
2. Tambura
3. Sarangi
4. Sitar

Q .1 9   In whic h c ity  was  India's  firs t- ever  S ports  G oods  M anufac tur ing C onc lave held  in                   
A ugus t  2 0 2 5?     

A ns  1. New Delhi
2. Kolkata
3. Ahmedabad
4. Jalandhar
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Q .2 0   In January  2 0 2 5,  famous  ghazal  s inger  Pankaj  Udhas  was  honoured with whic h              
pres t igious  award?  

A ns  1. Padma Shri
2. Padma Vibhusan
3. Padma Bhushan
4. Sangeet Natak Akademi Award

Q .1  Two r ight  c irc ular  c y l inders  have the s ame d iagonal  length of 2 5 c m.  The d ifference               
between their  radi i  is  2  c m.  I f  the d ifference between the s quares  of their  heights  is                
1 76 c m²,  then what is  the d ifference between their  C urved S urface A reas  (C S A) ?             

A ns  1. 176 π cm²
2. 264 π cm²
3. 132 π cm²
4. 88 π cm²

Q .2  O n a 90 0 - metre c irc ular  trac k ,  runners  A  and B  s tart  running s imultaneous ly  from                 
the s ame point ,  moving in oppos ite d irec t ions .  Runner  A  runs  at  a  s peed of 6  m/s ,                 
whi le runner  B  maintains  a  s peed of 4  m/s .  They  take a  90 - s ec ond break  after  every                
1 5 minutes  of running.  Determine the total  t ime it  takes  for  them to  meet at  the          
s tart ing point  for  the eighth t ime exc luding the init ia l  pos it ion at  t ime zero .              

A ns  1. 60 minutes
2. 75 minutes 20 seconds
3. 64 minutes 30 seconds
4. 12 minutes

Q .3  A  man s o ld  an art ic le for  ₹697  after  giv ing two s ucces s ive d is c ounts  on its  marked                  
pr ice of ₹2 ,788 .  The firs t  d is c ount was  d% of the marked pr ice and the s ec ond            
dis c ount was  equal  in rupees  to  the firs t  d is c ount amount .  F ind the value of d .                

A ns  1. 40
2. 37.5
3. 40.8
4. 37.7

Section : Quantitative Aptitude
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Q .4  If  50 % of a  number exceeds  2 0 % of it  by  90 ,  then the number is :             
A ns  1. 280

2. 320
3. 340
4. 300

Q . 5   A  pipe c an fil l  a  tank  in 8  hours .  A nother  pipe c an empty  the fil led  tank  in 4 0  hours .  I f                       
both the pipes  are opened s imultaneous ly ,  then the t ime ( in hours)  in whic h the tank         
wil l  be half  fil led ,  is :        

A ns  1. 6
2. 5
3. 10
4. 11

Q .6  Two workers ,  A  and B,  work ing together  c an c omplete a  tas k  in 1 4  day s .  A  a lone c an                   
c omplete the s ame tas k  in 24  day s .  They  s tart  the work  together,  but  after  5 day s ,  A                  
fal ls  s ic k  and B  c ompletes  the remaining work  a lone.  In how many  total  day s  was  the                
work  c ompleted? 

A ns  1. 23.8
2. 22.5
3. 26.6
4. 25.6

Q .7  Three numbers  are in the rat io  3  :  2  :  1 3,  and their  LC M  is  81 1 2 .  Their  HC F is :                        
A ns  1. 104

2. 98
3. 110
4. 90

Q .8

A ns  1. 
2. 
3. 
4. 
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Q .9  Water  fl ows  out through a c irc ular  pipe whos e internal  d iameter  is  2  c m, at  the rate               
of 4  metres  per  s ec ond into  a  c y l indr ic al  tank ,  the radius  of whos e bas e is  80  c m.  By                       
how muc h wi l l  the level  of  water  r is e in 2 0  minutes?             

A ns  1. 75 cm
2. 78 cm
3. 84 cm
4. 71 cm

Q .1 0   In an advanced s tat is t ic al  res earc h projec t ,  a  data s c ient is t  is  work ing with a  datas et                     
part it ioned into  three s egments  with the fo l lowing values :        
S egment 1 :  average = 1 6 ,         weight = 8
S egment 2 :  average = 2 5,        weight = 1 2
S egment 3 :  average = 9 ,        weight = 5
What is  the weighted average of the ent ire datas et?   

A ns  1. 18.92
2. 16.80
3. 17.44
4. 19.76

Q .1 1   The or iginal  pr ice of a  mus ic  s et  is  ₹8 ,60 0 .  The pr ice is  d is c ounted by  2 0 % and then                      
rais ed by  2 0 %.  What is  its  new pr ice ( in ₹) ?           

A ns  1. 7,556
2. 8,256
3. 7,756
4. 8,756

Q .1 2   A  c ompany 's  s toc k  pr ice inc reas es  by  x% in the firs t  quarter  and dec reas es  by  the                   
s ame x% in the s ec ond quarter.  I f  the final  s toc k  pr ice is  1 4% lower  than the init ia l                  
pr ice,  what is  the value of x?  ( Round off the ans wer  to  two dec imal  places . )             

A ns  1. 37.69
2. 37.42
3. 37.27
4. 37.98
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Q .1 3 

A ns  1. 100
2. 125
3. 175
4. 150

Q .1 4   In what rat io  mus t a  grocer  mix  two var iet ies  of  r ice c os t ing ₹2 99 and ₹1 75 per  kg,                
res pec t ively ,  to  get  a  mixture of r ice worth ₹2 50  per  kg?           

A ns  1. 51 :  76
2. 59 : 80
3. 75 : 49
4. 47 : 150

Q .1 5   The per imeter  of a  s quare is  596 m.  Its  area ( in m          2 )  is :  

A ns  1. 22,180
2. 22,196
3. 22,192
4. 22,201

Q .1 6   A tul ,  Bharat ,  and C hetan enter  into  a  partners hip.  A tul  inves ts  ₹2 5,0 0 0  for  6  months ,                       
Bharat  inves ts  ₹3 0 ,0 0 0  for  8  months ,  and C hetan inves ts  ₹4 0 ,0 0 0  for  9  months .  I f                           
the total  profit is  ₹3 7,0 0 0 ,  what is  C hetan's  s hare of the profit?            

A ns  1. ₹16,650
2. ₹15,030
3. ₹17,760
4. ₹12,400

Q .1 7   A  brand offers  a  trade d is c ount of 1 8% on its  produc ts  to  retai lers .  A ddit ional ly ,                  
dur ing a promotional  s c heme,  a  9% extra d is c ount is  provided .  I f  the produc t  is  l is ted                      
at  ₹2 5,0 0 0 ,  how muc h does  a  retai ler  pay ?           

A ns  1. ₹18,525
2. ₹18,815
3. ₹18,745
4. ₹18,655
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Q .1 8   A ar ju s tarts  a  bus ines s  with ₹2 ,0 0 0 ,  and after  5 months ,  B imla jo ins  A ar ju as  her                      
partner.  A fter  a  y ear,  the profit is  d iv ided in the rat io  4  :  7.  What is  B imla's                   
c ontr ibution to  the c apital?   

A ns  1. ₹6,400
2. ₹5,645
3. ₹7,105
4. ₹6,000

Q .1 9 

A ns  1. 
2. 
3. 
4. 

Q
.
2
0
A
n
s

1. 180 seconds

2. 190 seconds
3. 200 seconds
4. 210 seconds

Q .1  In a  certain c ode language,  ‘O NBE ’ is  c oded as  ‘5781 ’ and ‘BA NE ’ is  c oded as  ‘ 1 678 ’ .                    
What is  the c ode for  ‘A’ in the given c ode language?      

A ns  1. 8
2. 7
3. 6
4. 1

Section : Numerical or logical or Analytical Ability and Reasoning
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Q .2  What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?            

1 5,     3 2 ,      3 5,     72 ,     75,    1 52 ,      ?
A ns  1. 155

2. 160
3. 167
4. 163

Q .3  In a  certain c ode language,  
‘A  + B ’ means  ‘A  is  the daughter  of B ’ ,        
‘A  – B ’ means  ‘A  is  the brother  of B ’ ,        
‘A  ×  B ’ means  ‘A  is  the wife of B ’ and       
‘A  ÷  B ’ means  ‘A  is  the father  of B ’ .         

How is  C  related to  M  if  ‘C  + V  – R ×  N ÷  M ’?          
A ns  1. Mother’s brother’s wife

2. Father’s brother’s wife
3. Mother’s brother’s daughter
4. Father’s brother’s daughter

Q .4  Whic h of the fo l lowing letter- number c lus ters  wi l l  replace the ques t ion mark  ( ? )  in                  
the given s er ies  to  make it  logic al ly  c omplete?             

A B  1 0 ,  E F 2 0 ,  IJ  3 0 ,  M N 4 0 ,  ?                
A ns  1. QV 60

2. RV 50
3. RS 70
4. QR 50
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Q . 5   In a  certain c ode language,  
A  = B  means  ‘A  is  the s is ter  of  B ’ ,           
A  $ B  means  ‘A  is  the brother  of B ’ ,        
A  @ B  means  ‘A  is  the wife of B ’ ,       
and A  *  B  means  ‘A  is  the father  of B ’ .         

How is  A  related to  K i f  ‘A  = R @ F *  B  $ K ’?         
A ns  1. Mother's sister

2. Sister
3. Mother's mother
4. Mother

Q .6  E ac h of P,  Q ,  R,  S,  T,  U and V  has  an exam on a d ifferent day  of the week  s tart ing on              
M onday  and ending on S unday  of the s ame week .  O nly  two people have an exam        
before R.  O nly  one pers on has  an exam after  S.  O nly  three people have an exam        
between R and U.  O nly  one pers on has  an exam between P  and V.  Q  has  an exam        
immediately  before P.  Who has  an exam on M onday ?    

A ns  1. T
2. V
3. Q
4. U

Q .7  E ac h of A ,  B,  C ,  E ,  F,  G  and K has  an exam on a d ifferent day  of a  week  s tart ing from                 
M onday  and ending on S unday  of the s ame week .  C  has  the exam on Thurs day .  O nly            
one pers on has  the exam between E  and C ,  where E  has  the exam before C .  O nly  four          
people have exams  between G  and E .  F  has  the exam on one of the day s  after  E .  A  has           
exam on the day  immediately  before K .  How many  people have the exam between K     
and F?

A ns  1. Two
2. One
3. Four
4. Three
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Q .8  Read the given s tatements  and c onc lus ions  c areful ly .  A s s uming that  the information              
given in the s tatements  is  true,  even if  it  appears  to  be at  var iance with c ommonly              
known fac ts ,  dec ide whic h of the given c onc lus ions  logic al ly  fo l low(s)  from the                 
s tatements . 

S tatements :    
S ome plants  are c l imbers .    
A l l  c l imbers  are trees .      

C onc lus ions :   
( I )    S ome trees  are plants .  
( I I )      A l l  plants  are trees .    

A ns  1. Only conclusion (II) follows.
2. Both conclusions (I) and (II) follow.
3. Only conclusion (I) follows.
4. Neither conclusion (I) nor (II) follows.

Q .9  Refer  to  the fo l lowing letter  and s y mbol  s er ies  and ans wer  the ques t ion that  fo l lows .                   
C ounting to  be done from left  to  r ight  only .      

( L eft)      F  A    E    #  &  U  %  Z   U  T    >    &  S    K  L    *    =   N  M    £   <    G    ( Right)

How many  s uc h s y mbols  are there,  eac h of whic h is  immediately  preceded by  a             
s y mbol  and immediately  fo l lowed by  a  letter?         

A ns  1. Two
2. One
3. Four
4. Three
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Q .1 0   Read the given s tatements  and c onc lus ions  c areful ly .  A s s uming that  the information              
given in the s tatements  is  true,  even if  it  appears  to  be at  var iance with c ommonly              
known fac ts ,  dec ide whic h of the given c onc lus ions  logic al ly  fo l low(s)  from the                 
s tatements . 

S tatements : 
A l l  envelopes  are k ites .     
S ome k ites  are trains .   

C onc lus ions :   
( I )    A l l  tra ins  are k ites .       
( I I )     S ome envelopes  are trains .  

A ns  1. Only conclusion (I) follows.
2. Only conclusion (II) follows.
3. Neither conclusion (I) nor (II) follows.
4. Both conclusions (I) and (II) follow.

Q .1 1   What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?            

7    1 8     3 2     68  1 3 2      ?
A ns  1. 268

2. 267
3. 265
4. 266

Q .1 2   Refer  to  the fo l lowing letter  and s y mbol  s er ies  and ans wer  the ques t ion that  fo l lows .                   
C ounting to  be done from left  to  r ight  only .      

( L eft)  Q  K Y  S  @ $ N C  T  %V  M  #            *  J  W U £  X  Z  & P  O  R ( Right)        

How many  s uc h s y mbols  are there that  are immediately  preceded by  a  letter  and als o             
immediately  fo l lowed by  another  s y mbol?      

A ns  1. One
2. None
3. Two
4. Three
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Q .1 3   In a  certain c ode language,  ‘RUDE ’ is  c oded as  ‘724 5’ and ‘D IM S ’ is  c oded as  ‘ 1 53 6 ’ .                     
How is  ‘D ’ c oded in that  language?     

A ns  1. 5
2. 2
3. 3
4. 1

Q .1 4   Bas ed on the E ngl is h a lphabetic al  order,  three of the fo l lowing four  letter- c lus ter              
pairs  are a l ike in a  certain way  and thus  form a group.  Whic h letter- c lus ter  pair  DO E S                
NO T belong to  that  group?  
( Note:  The odd one out is  not  bas ed on the number of c ons onants/vowels  or  their         
pos it ion in the letter- c lus ter. )       

A ns  1. VL – AP
2. TE – XH
3. LY – PB
4. DS – HV

Q .1 5   S uvid  s tarts  from Point  A  and dr ives  9  km towards  the s outh.  He then takes  a  left              
turn,  dr ives  7  km, turns  left  and dr ives  1 1  km.  He then takes  a  left  turn and dr ives  1 0                  
km.  He takes  a  final  left  turn,  dr ives  2  km and s tops  at  Point  P.  How far  (s hortes t                  
d is tance)  and towards  whic h d irec t ion s hould  he dr ive in order  to  reac h Point  A              
again?  ( A l l  turns  are 90 - degree turns  only  unles s  s pec ified . )               

A ns  1. 4 km to the east
2. 3 km to the west
3. 4 km to the west
4. 3 km to the east

Q .1 6   S ix  people,  A ,  B,  C ,  M ,  N and O,  are s itt ing around a c irc ular  table fac ing the centre.  A                 
s its  third  to  the left  of  O.  O nly  one pers on s its  between A  and C  when c ounted from               
the left  of  A .  O nly  two people s it  between B  and C .  C  is  an immediate neighbour  of N.                
How many  people s it  between M  and N when c ounted from r ight of N?     

A ns  1. Three
2. Two
3. One
4. Four
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Q .1 7   S even people,  W,  X ,  Y,  Z ,  E ,  F  and G  are s itt ing in a  s traight l ine,  fac ing north.  O nly  five                        
people s it  between G  and E .  Z  s its  to  the immediate left  of  E .  O nly  one pers on s its                  
between Z and F.  W s its  at  s ome place to  the left  of  Y  but at  s ome place to  the r ight             
of X .  Who s its  third  from the left  end of the l ine?        

A ns  1. W
2. X
3. G
4. Y

Q .1 8   Whic h of the fo l lowing letter- number c lus ters  wi l l  replace the ques t ion mark  ( ? )  in                  
the given s er ies  to  make it  logic al ly  c omplete?          

RFL  2 2 ,  T IN 3 1 ,  V L P 4 0 ,  XO R 4 9,  ?               
A ns  1. ATS 52

2. BTV 50
3. ZRT 58
4. ASU 55

Q .1 9   E ac h of the d igits  in the number 3 4 85769 is  arranged in as cending order  from left  to            
r ight .  What wi l l  be the s um of the d igits  whic h are fifth from the left  and fourth from          
the r ight  in the new number thus  formed?   

A ns  1. 13
2. 14
3. 16
4. 12

Q .2 0   If  + means  −,  − means  × ,  ×  means  ÷  and ÷  means  +,  then what wi l l  c ome in place of the                
ques t ion mark  ( ? )  in the fo l lowing equation?           

2 1  + 24  ×  4  ÷  1 5 − 2  = ?       
A ns  1. 40

2. 45
3. 48
4. 47

Section : English language
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Q .1  S elec t  the mos t appropr iate A NTO NYM  of the highl ighted word in the given s entence.          

S he made a  vehement  argument agains t  the propos al ,  her  vo ice fil led  with pas s ion          
and c onvic t ion.  

A ns  1. legible
2. mild
3. aggressive
4. laboured

Q .2  S elec t  the option that  c an be us ed as  a  one- word s ubs t itute for  the given group of            
words .

A  pers on who has  a  s trong bel ief  that  pleas ure is  the c hief  god            
A ns  1. Hedonist

2. Almighty
3. Worshiper
4. Doctor

Q .3  S elec t  the mos t appropr iate meaning of the given id iom.      

B ite the bul let 
A ns  1. To speak harshly

2. To avoid confrontation
3. To endure a painful experience bravely
4. To act impulsively

Q .4  S elec t  the mos t appropr iate option to  fil l  in the blank .         

The teac her  handed a cert ific ate to  _____ s tudent for  their  hard work .        
A ns  1. some

2. every
3. all
4. each
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Q . 5   S entences  of a  paragraph are given below in jumbled order.  A rrange the s entences  in         
the c orrec t  order  to  form a meaningful  and c oherent paragraph.         

P :  This  proces s  of produc tion has  been c ontinuing for  ages .         
Q :  Remember that  the nat ion l ives  in the c ottage.        
R:  They  are produc ing the ent ire wealth of the land without a  word of c omplaint .       
S :  The peas ants ,  s hoemakers ,  s weepers  and other  s uc h c las s es  of Ind ia  have a  muc h                     
greater  c apac ity  for  work  and s elf- rel iance than us .         

A ns  1. RSPQ
2. QSRP
3. SRPQ
4. RQSP

Q .6  Identify  the INCO RRE C TLY s pelt  word in the given s entence and s elec t  the option that           
rec t ifies  it .    

The author  was  known for  his  acerbic  witt .     
A ns  1. known

2. acerbic
3. author
4. witt

Q .7  Identify  the A NTO NYM  of the word 'ac quit '  in the fo l lowing s entence.           

Though the lawy er  tr ied  to  appeas e the jury  and s ubtly  a l lude to  the defendant ’s              
good c harac ter,  the pros ec utor  c ontinued to  acc us e him bold ly ,  whi le the defence             
fought hard to  abs olve him of a l l  c harges .      

A ns  1. accuse
2. absolve
3. allude
4. appease
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Q .8  S elec t  the mos t appropr iate punc tuation to  fil l  in the blank .          

The res ults  of  the exper iment were as  fo l lows  _____ inc reas ed temperature,  dec reas ed             
vis c os ity ,  and reduced part ic le s ize.        

A ns  1. - (hyphen)
2. :  (colon)
3. , (comma)
4. ; (semi-colon)

Q .9  S elec t  the mos t appropr iate verb form to  fil l  in the blank .         

We ________ the P is a Tower,  and the tour is ts  were tak ing pic tures  a l l  around us .            
A ns  1. are visiting

2. would visit
3. will visit
4. had visited

Q .1 0   S elec t  the option that  rec t ifies  the under l ined inc orrec t ly  s pelt  word in the given                
s entence.

We were s tuc k  in the middle of a       manuever ,  and the jeep began to  s l ide.    
A ns  1. maneuvre

2. manoeuver
3. maneuover
4. maneuver

Q .1 1   S elec t  the mos t appropr iate art ic le to  fil l  in the blank .  I f  no  art ic le is  needed ,  s elec t                        
'No art ic le required ' .   

The new law repres ents  ______ s ignific ant c hange in how environmental  regulat ions       
are enforced .

A ns  1. an
2. No article required
3. a
4. the

https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap


Q .1 2   S entences  of a  paragraph are given below.  While the firs t  and the las t  s entences  ( S 1            
and S 6)  are in the c orrec t  order,  the s entences  in between are jumbled up.  A rrange            
the s entences  in the c orrec t  order  to  form a meaningful  and c oherent paragraph.         

S 1 .  I t  was  midnight when the knoc k  c ame.            
A)  O ks ana woke with a  s tart ,  her  heart  pounding in fear.         
B)  It  c ame again .       
C )  O ks ana thought of the mons ters .     
D)  It  ec hoed hol lowly  through the dark  c ottage.       
S 6 .  S he hid  under  her  blanket ,  pray ing the thing would  go away .           

A ns  1. DABC
2. CADB
3. ACBD
4. ABDC

Q .1 3   S elec t  the option that  c orrec t ly  punc tuates  the given s entence.          

The manager  s aid  we need to  talk   
A ns  1. The manager said, “We need to talk.”

2. The manager said, We need to talk.
3. The manager said, “we need to talk”.
4. The manager said- “we need to talk!”

Q .1 4   S elec t  the option that  c an be us ed as  a  one- word s ubs t itute for  the given group of            
words .

S omeone who s tudies  anc ient  artefac ts  and c ultures       
A ns  1. Historian

2. Ecologist
3. Anthropologist
4. Archaeologist
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Q .1 5   S elec t  the mos t appropr iate meaning of the given id iom.      

Rar ing to  go 
A ns  1. Dragging one’s feet

2. Eager to begin something
3. Running out of time
4. Spilling the beans

C omprehens ion: 
In the following passage, some words have been deleted. Read the passage carefully and select
the most appropriate option to fill in each blank. 

Elements of his invention are thought to have included a metal alloy. As he contemplated, (1)
_______ idea came to him. Could (2) ________ metalwork process be used to (3)___ words on a
page? Gutenberg's idea (4) ____ to cut from the alphabet on individual blocks of metal that
could melt (5) ______ and cool quickly to form durable reusable type, an oil-based ink that could
be made sufficiently thick to adhere well to metal type and transfer well to vellum or paper, and
a new press.

S ubQ ues t ion No :  1 6       
Q .1 6   S elec t  the mos t appropr iate option to  fil l  in blank  number 1 .          
A ns  1. a

2. an
3. one
4. was
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C omprehens ion: 
In the following passage, some words have been deleted. Read the passage carefully and select
the most appropriate option to fill in each blank. 

Elements of his invention are thought to have included a metal alloy. As he contemplated, (1)
_______ idea came to him. Could (2) ________ metalwork process be used to (3)___ words on a
page? Gutenberg's idea (4) ____ to cut from the alphabet on individual blocks of metal that
could melt (5) ______ and cool quickly to form durable reusable type, an oil-based ink that could
be made sufficiently thick to adhere well to metal type and transfer well to vellum or paper, and
a new press.

S ubQ ues t ion No :  1 7       
Q .1 7   S elec t  the mos t appropr iate option to  fil l  in blank  number 2 .          
A ns  1. by

2. a
3. an
4. those

C omprehens ion: 
In the following passage, some words have been deleted. Read the passage carefully and select
the most appropriate option to fill in each blank. 

Elements of his invention are thought to have included a metal alloy. As he contemplated, (1)
_______ idea came to him. Could (2) ________ metalwork process be used to (3)___ words on a
page? Gutenberg's idea (4) ____ to cut from the alphabet on individual blocks of metal that
could melt (5) ______ and cool quickly to form durable reusable type, an oil-based ink that could
be made sufficiently thick to adhere well to metal type and transfer well to vellum or paper, and
a new press.

S ubQ ues t ion No :  1 8       
Q .1 8   S elec t  the mos t appropr iate option to  fil l  in blank  number 3.         
A ns  1. produce

2. sign
3. spoil
4. skip
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C omprehens ion: 
In the following passage, some words have been deleted. Read the passage carefully and select
the most appropriate option to fill in each blank. 

Elements of his invention are thought to have included a metal alloy. As he contemplated, (1)
_______ idea came to him. Could (2) ________ metalwork process be used to (3)___ words on a
page? Gutenberg's idea (4) ____ to cut from the alphabet on individual blocks of metal that
could melt (5) ______ and cool quickly to form durable reusable type, an oil-based ink that could
be made sufficiently thick to adhere well to metal type and transfer well to vellum or paper, and
a new press.

S ubQ ues t ion No :  1 9       
Q .1 9   S elec t  the mos t appropr iate option to  fil l  in blank  number 4 .          
A ns  1. was

2. is
3. were
4. are

C omprehens ion: 
In the following passage, some words have been deleted. Read the passage carefully and select
the most appropriate option to fill in each blank. 

Elements of his invention are thought to have included a metal alloy. As he contemplated, (1)
_______ idea came to him. Could (2) ________ metalwork process be used to (3)___ words on a
page? Gutenberg's idea (4) ____ to cut from the alphabet on individual blocks of metal that
could melt (5) ______ and cool quickly to form durable reusable type, an oil-based ink that could
be made sufficiently thick to adhere well to metal type and transfer well to vellum or paper, and
a new press.

S ubQ ues t ion No :  2 0      
Q .2 0   S elec t  the mos t appropr iate option to  fil l  in blank  number 5.         
A ns  1. readily

2. precisely
3. strongly
4. highly

Section : General Studies
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Q .1  Whic h of the fo l lowing is  NO T one of the pi l lars  of  the S agarmala S c heme?            
A ns  1. Coastal tourism development

2. Port-linked industrialisation
3. Port connectivity enhancement
4. Port modernisation

Q .2  Whic h r iver  d iv ides  the Penins ular  P lateau into  the C entral  H ighlands  and the Decc an               
Plateau?

A ns  1. Narmada
2. Krishna
3. Godavari
4. Mahanadi

Q .3  Whic h of the fo l lowing is  a  c orrec t  s tatement about India’s  is lands?             
A ns  1. Nicobar Islands are extensions of the Arakan Yoma range.

2. The Andaman group is made of corals over submerged plateaus.
3. Barren Island belongs to the Lakshadweep chain.
4. Lakshadweep has mainly rocky coasts with no lagoons.

Q .4  Who appoints  the C hairman of the Publ ic  A cc ounts  C ommittee ( PA C )  in Ind ia?              
A ns  1. Speaker of Lok Sabha

2. Prime Minister of India
3. President of India
4. Chairman of Rajya Sabha

Q . 5   Who was  the founder  of the Tughlaq dy nas ty  in the Delhi  S ultanate?       
A ns  1. Muhammad bin Tughlaq

2. Mahmud Ibn Muhammad
3. Firoz Shah Tughlaq
4. Ghiyasuddin Tughlaq

Q .6  Whic h of the fo l lowing bes t  des c r ibes  Rabindranath Tagore’s  c ontr ibution to  the            
national  movement?

A ns  1. He combined cultural nationalism with a critique of narrow nationalism.
2. He was a founder of the Indian National Congress.
3. He led the Quit India Movement.
4. He worked only in revolutionary groups.
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Q .7  O n whic h date d id  the Ja l l ianwala Bagh M as s ac re occ ur?            
A ns  1. 18 May 1919

2. 13 April 1819
3. 15 August 1919
4. 13 April 1919

Q .8  Whic h mountain pas s  is  c orrec t ly  paired with its  range?          
A ns  1. Shipki-La – Siwalik

2. Nathu-La – Greater Himalaya
3. Bara Lacha-La – Himadri
4. Zoji-La – Ladakh Range

Q .9  Whic h of the fo l lowing init iat ives  was  launc hed to  fac i l itate d igital  trans ac t ions  in                    
the agr ic ultural  s ec tor  pos t- 1 991 ?         

A ns  1. National e-Governance Plan
2. Direct Benefit Transfer Scheme
3. Digital India
4. National Agricultural Market (e-NAM)

Q .1 0   Who among the fo l lowing was  c al led  the 'L ion of Punjab'  dur ing the E xtremis t  phas e?             
A ns  1. Bipin Chandra Pal

2. Gopal Krishna Gokhale
3. Bal Gangadhar Tilak
4. Lala Lajpat Rai

Q .1 1   A n o i l - refining plant  that  proces s es  c rude petro leum belongs  to  whic h c ategory  of                
indus tr ies  by  raw mater ia l?     

A ns  1. Forest-based
2. Marine-based
3. Mineral-based
4. Agro-based
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Q .1 2   Whic h C ons t itut ional  A mendment introduced the Tenth S c hedule to  the Indian           
C ons t itut ion,  c ommonly  known as  the A nti- Defec t ion L aw,  to  c urb pol it ic al                  
defec t ions  by  legis lators?     

A ns  1. 42nd  Amendment Act, 1976

2. 61st Amendment Act, 1988

3. 52nd  Amendment Act, 1985

4. 73rd  Amendment Act, 1992

Q .1 3   Whic h S c hedule of the Indian C ons t itut ion deals  with the adminis trat ion and c ontro l            
of S c heduled A reas  and Tr ibes?    

A ns  1. Ninth Schedule
2. Fourth Schedule
3. Sixth Schedule
4. Fifth Schedule

Q .1 4   When was  NIT I  A ay og es tabl is hed by  an exec utive res olut ion to  replace the P lanning             
C ommis s ion?  

A ns  1. 2017
2. 2014
3. 2015
4. 2016

Q .1 5   Whic h among the fo l lowing is  NO T one of the broad indic ators  of  the National         
M ult id imens ional  Poverty  Index ( M PI)  in Ind ia?            

A ns  1. Health
2. Education
3. Standard of living
4. Employment

Q .1 6   Whic h natural  feature is  ty pic al  of  the L aks hadweep Is lands  of Ind ia?               
A ns  1. Sand dunes

2. Volcanic mountains
3. Glacial deposits
4. Coral formations
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Q .1 7   The famous  C hines e pi lgr im Xuanzang ( Hs üan- ts ang)  v is ited India  dur ing the reign of :               
A ns  1. Chandragupta II

2. Harshavardhana
3. Skandagupta
4. Pulakeshin II

Q .1 8   Whic h of the fo l lowing is  NO T an advantage of G lobal is at ion in Ind ia?            
A ns  1. Higher standards of living

2. Increase in employment
3. Reduction in income inequality
4. Increase in compensation

Q .1 9   Whic h Indian C ons t itut ional  A mendment A c t  lowered the vot ing age from 2 1  y ears  to                
1 8 y ears? 

A ns  1. 86th  Amendment Act, 2002

2. 44th  Amendment Act, 1978

3. 42nd  Amendment Act, 1976

4. 61st Amendment Act, 1988

Q .2 0   Whic h of the fo l lowing was  a  pr imary  objec t ive of Ind ia's  Firs t  Five Year  P lan ( 1 951 -                  
1 956) ? 

A ns  1. Heavy industrialisation
2. Promotion of information technology
3. Self-reliance in technology
4. Development of agriculture and transport
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